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2.5 Practice Problems

For 1-9: Let f{x) = 2x - 1, g(x) = 3x, and h(x) =x’ + 1. Compute the following;

1. flg(-3) 2. (7)) 3. (g°h)(24)
4. fg(h(2))) S. h(g(15))) 6. g(f(h(-6)))
TR x+1) 8. g(3a) 9. h(x-2)

10. Given f(x)=x-1 and g(x)=x"+2x-8,

find (g f)x)

11. Use the following for a-d, f(x)=2x"+x-1, g(x)=3-2x, k(x)=~§%
x—

a)  Find (f-g)(x) b)  Find (fog)(x)

c) Find [-?—](x) and its domain. d) Find k(f(g(x)))



12. Given the graphs of f(x) and g(x), evaluate:

SAx): ' glx):
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a. g(f((-1)) b. (g +f)(0)

d. (g-)(2) e.2(g(3))

13.Givenf(x)=x2 -5x+4,g(x) =3 -x h(x) = —2--—, find:
x+5
a. f(g(h(x))) b. h(f(g(x))

14.) If (fog)(x)=% find g(x) if f(x)=4x"".

(5x+2)

c. (f/8)(3)

£. g(£(0))



